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BRATS  BEAH EERZH BREH
- fmER - fEER BER
e b 2k 5 . Eih HEE iz BE |En]  (HE Eth HEE pi:br ] HE |me| g=
RIERWER (20 =% |jost 200| 18 = arva- 549 100| {&
Eih HErE fiE ¥E |y {HE E- 40, 9ANnE 5 150| {8 Bif WAF Kav4s &
R #R1ES $E"+3°3k 250| 1@ I 144 150| {& &t 900 kg
= W3 INFIMTY3k 300| & BfEA v 80| & 1,550 {&
TIYNT~8A 300| 1@ 845 Lyast 400| {&
s INFI47Y3k 200| 1& PS5 N4 S 50| (@ 26 g s py 2
IIYN10A 300| & X5 & YN BTV ke 52
g KE Hn'6~8A @ KiR PAUL)) 100| &
= NI KP4k & iR Bqhst 50| {8 Eth HEE pi:br ] HE |me] g=
Ri& wIFs (7T Y & LA Yr4nst @ REA S A5 =9 3,500| &
Z1A & FiE INIE S 300/ & BERES |[Winst -7 V% 800| &
Bt 1,350 {@ HEA 1532 415 150| {& BNYF 350| &
= I K E5 Fhyt 50| {8 Koo EARS [#BEI52 150| &
BEXE_H § 750 kg Ficp ) 7Y 400 #
B —i 3,930 {& RS =579 130( &
1,900 & BE KEMHS  [EEFS 400| kg
Eih HErE fiE = |t {FE BIES W3S EARE 100[ &%
U3 B5E H°T 700| ke g 5 400 kg
7IE 150| ke ARR 1,530 &
Ei&s EH PEE 300| kg Eih HEH A B e {HFE 3,900 #
REX S =HN T7HY 100| {& R LExE E74 200| &
s =45 HIr 100| kg TIEEE  |FE5A 50| ke A&t 6,000 ke
BEs WUES B# 50| kg Kis EM5 300| ke 6,930 &
ny 74t ZYHFS &= 1,000| #& 8453 E.e3R5 200| kg 3,630 &
5 1,300 kg H¥F FEARR, Jnsb 400| kg 4,900 44
100 {& BE BARE, 435 300| kg
1,000 #% bN: F&Eynst 400( kg
i EENIY 100| kg
EHEE=L VA BES &30 5 50| ke
P IE pE & IzEE  [[FEE7r91 50| ke
fmER - fEER e e e
Eih HEE aiE HE |ma  (HE E ) EETA 57575 600| kg
i ExE A AMh5t & EiF M558 100| ke
BB 3 & BE K BT 100| kg
=k 7'). 73% 45 400| & B 2650 ke
&R 100| 1@ 200 &
Fa 5 300| 1&
R &5 850| & .
B 750| & R
/A 300 & Eith HErE ik ¥E |Ee]  {HE
ikl MEUREZE)S 600| {& 1B EES #9554 50| {&
X5 E3#F X71A 200| {8 =28 &
A 100| {& xR Kav14+ 150| {8
IZEEHS (497,705 100| {& HE h7°5 50| {&
=]z pep 700| kg IpER  [KIL45 500| 1@
ES kg FEETA 900 ke
A pr2 (! ke §EI Y254 150| {8
M nN34h5 150| 1@ R 1A 100| &
R NiE ETHY 50| kg =5 FEF 7’5 250/ &
iR Yy4hst 150| 1@ bl 40 100| {&
HE 75 150 & BHE #9554 100| 1@
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